N = 0l & At & Ml A

20199 &= Z0l & LB H MEN S AIHE

SN MEH T A2
M TA22AHE

el CAlZEI N CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AEH & AL 2,123,830 3,578,193 A 1,454,363
= 71,202
< 34,000
Al 2,018,628
S AZelHE 1,011,362 2,104,256 A 1,092,894
= 71,202
Al 940,160
S A2t H & 607,640 1,600,640 2993, 000
SAAHEZEEMA(UPIS) KX 22 25,000 25,000 0
201 et 25,000 25,000 0
02 2324l 25,000 25,000 0
OZAHEFEZMA(UPIS) sX2cl 25,000
SAAEAMY F& 64,400 65,400 A 1,000
201 Let24d] 44,400 44,400 0
01 At 22l 44,400 44,400 0
O AMAARS FH+H 25,280
OEANUAES SRS F4&=E 9,120
OZAAHEZE & QD FEIZHZ1 10,000
203 YR =&l 20,000 21,000 A 1,000
03 AIMZ=XH R =X H| 20,000 21,000 21,000
OMENEC Al H2e = 20,000
MEHZ Al SEAHE =2 18,240 10,240 8,000
201 L2l 18,240 10,240 8,000
01 At 22l 18,240 10,240 8,000
OMHZAIRIES 2 10,240
OMEHET Al ALES 0128 L= 8,000
SN2 AHE HEH EEY 500,000 1,000,000 A 500,000
207 O & H] 500,000 1,000,000 A 500,000
01 2284 500,000 1,000,000 A 500,000
O A ZelHE HEH 89 500,000
EXzel 84,722 73,616 11,106
= 71,202
Al 13,520
FSUBTESRALE 29 11,000 11,000 0
201 L4l 11,000 11,000 0
02 =224l 11,000 11,000 0
ORSUSHIRANLEH RAES 11,000
AR RE X 11,106 0 11,106
= 11,106




SN MEH T A2
M TA22AHE

el EXl22 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
101 14 Hl 11,106 0 11,106
= 11,106
04 JIZHHZ22XREE S 11,106 0 11,106
OXNFUE HREX 11,106
= 11,106
234 HoE 2el 2,520 2,520 0
201 LBt 2,520 2,520 0
01 At 22l 2,520 2,520 0
ORSUINASAIREE & NEHZAAAS
SRR = 2,520
HESAIXRIIE ZAF - &HE 60,096 60,096 0
= 60,096
101 @144 dl 16,000 16,074 AT4
= 16,000
04 JIZHHZ2XREES 16,000 16,074 AT4
OQMESAI Xt ZA- & H 16,000
= 16,000
201 Let24d] 38,296 40,281 21,985
= 38,296
01 At 22l 38,296 40,162 A 1,866
OMESAIXI It ZAL- &F LBt=ZH| 35,096
= 35,096
QMBS AKX b ZA- &4F SZ20HAHI 3,200
= 3,200
202 oddl 5,800 3,741 2,059
= 5,800
01 = LH o4 1l 5,800 3,741 2,059
OMEZAIXIIL EAL- &HE 5,800
= 5,800
SAHEE et 319,000 430,000 A 111,000
FXANEE =FME (2SI H) 150,000 150,000 0
403 XIS E X201 & 150,000 150,000 0
02 SO 2SO HEHAHE X 2 &AL H 150,000 150,000 0
O=XX&8 =3 N 150,000
ZAFRAAY X2 80,000 80,000 0
201 £B-2dH| 80,000 80,000 0
02 3323l 80,000 80,000 0
OCEetY GIS AIAE RAE 80,000
TUHDAAY DT ANE ZAWL TY 25 89,000 100,000 A 11,000
207 A& H| 89,000 100,000 A 11,000
02 & AR b 89,000 100,000 A 11,000




SN MEH T A2
M TA22AHE

Sl ZAFB MRS CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| | OANAE HY 2 ATEQYN 2= 89,000
A2k 344,136 211,710 132,426
& 34,000
Al 310,136
e | 344,136 211,710 132,426
& 34,000
Al 310,136
C2EFAIIEE SHSAIY (2R HRL) 8,471 4,367 4,104
403 XX SHHS K20 & 8,471 4,367 4,104
02 BI2SHUESX=2ERAEAISHI 8,471 4,367 4,104
OEZHFAIIE2T RAELEAY 8,471
C2HFA A2 180,565 179,243 1,322
201 et 80,565 79,243 1,322
01 AP 2t 2] H| 60,000 60,000 0
OEZYHFzA EE S 56,800
OEZHFARAS 2H4H 3,200
02 B32%H| 20,565 19,243 1,322
O2INTAHBAAE (KAIS)S K22 16,240
OE2RYHZFA DNXIDA RERZ = 4,325
401 AlEHIZL 2 0HY| 100,000 100,000 0
01 Al&H| 100,000 100,000 0
O=2Hse T2HF=A HUIAIY 100,000
MHQASE XS 2N EHS B & 23,400 21,400 2,000
& 7,000
Al 16,400
401 Al HI L £ 0HHI 23,400 21,400 2,000
& 7,000
Al 16,400
01 Al& H| 23,400 21,400 2,000
OMHAS XS 2O EHSs T X 23,400
& 7,000
Al 16,400
29 Jlxdso AX 6,700 6,700 0
== 2,000
Al 4,700
401 AlEHIZL 201 Y| 6,700 6,700 0
= 2,000
Al 4,700
01 Al&H| 6,700 6,700 0
OE2Y Jlx=Hso A 6,700
= 2,000
Al 4,700




SN MEH T A2

ma: Fapel

ool 29 FAHE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E2EH CHHANEE EFSAY 75,000 0 75,000
= 15,000
Al 60,000
401 Al HI K 201 I 75,000 0 75,000
< 15,000
Al 60,000
01 A& Bl 75,000 0 75,000
O52Y GUALS HEAY 75,000
< 15,000
Al 60,000
E2H CHHAIEE S22 ALY 50,000 0 50,000
< 10,000
Al 40,000
401 Al HIZ 2018 50,000 0 50,000
< 10,000
Al 40,000
01 A& HI 50,000 0 50,000
OL=2Y CHUAIE=ES KX ALY 50,000
= 10,000
Al 40,000
HAE2AZHI (MEN S AIHE D) 768,332 762,227 6,105
ol 2| (MEHZ Al H & 1) 672,776 670,767 2,009
Ol 2 Y| (MEHS Al H & 1) 672,776 670,767 2,009
101 14l 672,776 670,767 2,009
01 2= 672,776 670,767 2,009
OAZtZ22xE 642,335
6= 11,4013 32 «50Al 2+« 128 218,900
/= 10,2993 x51H «50A| 2t 128 315,150
[ Joi= 9,246 15 «50Al 2tx 128 83,214
[ JeI= 8,357&3 x5 «50Al 2tx 128 25,071
O =] 30,441
QL=NYE=ZR 82,786 x4F xBA| 2t+7L 18,545
[ DS Falls] 660,877,664% *1.8% 11,896
Jl2Z I (MEHS A HIE 1) 95,556 91,460 4,096
JI2ZHI(MEHE A A= 1) 95,556 91,460 4,096
201 2Bt Ayl 44,736 42,320 2,416
01 At 22l 44,736 42,320 2,416
O R<IEet=:]l 24,000
o=gtl 20,736
202 (44l 43,320 41,640 1,680
01 2L 01| 43,320 41,640 1,680
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